ot be determined,

le interest, a sum doubles after

Thg‘ﬁ}ameter of a circle is 105 cm less
#;an the circumference. What is the
I Hiamew of the circle ?

_-I- {A) 44cm (B) 46cm

Eﬁf 48em (D) 49 cm
"Hlﬁhat is the largest number which

.14? and 252 to leave the
ainder in each case 7

(8) 15
(B) 35

- :FH m Broundwater slightly
Jre to air because

o

The rate of interest per

‘8) 157 =

(€) 1674

(D) Foruiifie =t far = wet |
TV =4 T HIE A0y 20 A H AR

ant e A e s af ad €

(A} 5%

(B) 10% :
(C) 12% ’
(D) w1 At '
TF g9 W FW IHH 9IRS F 105 cm j
FH & | T 1 S Fepew 2 \
(A) 44 cm (B) 46cm ""
(C) 48cm (D) 4Scm- 1

o WS W AE W e i 77, 147
o 252w faafem = w oo S
O Vi 24 i

(A) 25 AB) 15

() a5 (D) 35

I F I B W A e 5
pH 4F21 %1 &t st & =i

(A) A7 =t = Trs st srer i
et g |

(B) 7w = STERIINT 727 o vt &
meﬁw aanh

- .




) avoid steering the telescope
P ﬂgainstth&earth's miotion.

Whlchune among the following is not
included in the major clinical sign as a
case definition of AIDS in children < 12
years of age ?

(A) Persistent caugh for more than 1
month
(B) Loss of weight

{C) Chronic diarrhoea

(D) Prolonged fever

Ti'le polarity of an unmarked horse shoe
‘magnet can be determined by using

(A) acharged glass rod

{Bl a magnetic compass

(C) an electroscope
* None of these

"..EI

bR Al
f milk remains
« -8 .

® M#W*‘ﬁw Ao S

W%W‘éwﬁﬁ?m'

(cy gﬁ#mmaﬁ%m*
guul § 791 % e |

(D) geh =t i ¥ ferer 2t
afraifem F0 § 794 e |

s F @ e % 112 99§ 9 g

e e o wyE fafeere RV $ w9

# AIDS & wioaisa weer ° e w9

fera w7 2

(A): 1 A | ATE 599 TF AR 56
BT

(B) = g2l

(C) =1 SFER

(D) it vaEE

T el i @ A s g w
wie e o wean &

(A) UF maEAlT =i F OF H IE W
(B) T=HE FETH FHI

(C) T TR % AT

(D) T & =g 7

T 7 T 2 o R
(A) iﬂﬂmmh
{B] T ] U HH B




gs;ﬁ,ﬁanam
(D) Humanity

Al

(8) Dull
(D) Attentive

12 i'h the falruwing question, out of the
faur ‘alternatives choose the one
wﬁll:h;ﬁaﬂ be substituted for the given
vords/phrase.

Something which becomes outdated

(A) od (B) Ancient

(C) Obsolete (D) Useless

13. Fillinthe blank with most appropriate
‘alternative.

ﬂewbne should pay

- amount by 31% of March,
M; his (8) her

; (D) your

subscription

mthé Mﬂs question, find out
which part of the sentence has an

m the alternatives the worg:
ﬁ?ﬂ?&‘s the oppasite meaning

i6.

17.

1B.

(8). 7w
(€) e
(D) Jwmr

fre = d FR maam
BRI [ ETE

(A)- B

(B) srezefiuma

(c) B

(D) TegEa

BT T T T T Ad
(&) e T

(B) =H-a U R

(C) =i AT ®e

(D) s w3 A

Y W AT e
(A)., e
(B) s
(C) w%w
(D) =m=

T 1 Pt e
(A) e

(B}
(©), fr

j

-_. g




22, F ﬂ-re&ateuf Haryana, the receipts
' e —mgﬁgmﬁ'a! Lt

Fiscal Year 2015-16.

(A} T12877.81  (B) T16877.81
(€) 1187781 (D) T10877.81

crore for the

- Haryanvi literature enriched with all of

the following languages. except :

{E} Hindi (B) Pali
(C) Braj (D) Urdu

Which of the following statements

isfare correct 7

1, The rural sex ratic of Haryana Is
882

2. The urban sex ratio of Haryana is
g73.

Codes:

(A) only1

(B) only2

(C) both1land2

(D} neither 1 nor2

. 25, Match the following :

List=1 List =i
. Chandigarh
, Yamunanagar
. Gurgaon
. Faridabad

(©) e

Wy T F fem trsmﬂﬂﬂ a4
2015.16 % fore mfeal = T
o e 7@ T E |

(A}, T12877.81  (B) ¥ 16877.81
{c) 21187781 (D) 7 10877.81

¥ ﬁmaﬁmﬁﬂﬁﬁ‘aﬁimﬁfﬁ

nﬁtﬁqﬁm;

(a) e (), wfe

(c) w= (D)3

fe 1 @ i TR T WK ?

1. o = wwior e 882 % |
3. e Wt ferme 873 8 |
BT:

(A) F=e 1

_(B) ¥ 2

(€) 17T 23l
(D) AAT1AE 2

ﬁﬂﬂﬁﬂﬁﬁlﬁﬁ'ﬁ!’




e incorrect ?
1. Haryana Panchayati Raj Act was
~ passed in the year 1994,
L It adopted two-tier Panchayati Raj
- System.

{4) only1
" (B) only2

(C) both 1and 2

(D) none of these

28, Which kind of soil is found at the
Morni range of the State Haryana »
(&) Alluvial (B) Loamy

(€) Muddy (D) Stony

ﬁi!an.go fair is held in
(A) Pinjore
(€) Kurukshetra

‘Which of the followi
(A) Nirmal Gulia
(B) Gurpreet Kaur
(©) Sunita Singh
(D) Geeta Jutsi

e LW
1] r
A
]
‘b

(B) Bilaspur
(D) Sonipat

NE pair is incorrect ?
= Gymnastics

= Javeline throw
= Race

of the fﬂll‘awfng. statements.

(0) STy

27. P R e o b
1. e et 9 w9 1994 F

ifer ga | e
2 T frwily demEt oo womet
FHAGATE TE |
g
(A) e 1
(B) e 2
AC) 13 2+t
(D) = & =t =
28, Eﬁwm%nﬁaﬂﬂiﬁﬁmmaﬁ
AT 9T e & o
(A)-=ort (B) wect
(C) =eme (D) werdret
29. ST N FRT i g &
(A) F=iy (8)- feremeng
(C) Fim (D) =iy

30. e 3 & 9 Wy e b

{A}f.‘r:i'ﬂ‘]fﬁ'q'[ - Fﬁﬂ:ﬂﬁi"ﬂﬂ
B THIB ey
(C) Tften fire - 3
(D) it et - Fromtarnt
31 wﬂﬁﬁmm‘rﬁw%
(A) rrrOT
(B) =Emme
AC) T o w5y s
(0) 2 oft
22 mm*ﬂﬂ#ﬁﬂ“ﬁ? i
CE R —




27,

38,

1)

(D) MNone of the above

Government has proposed 3
Park in the KMP

{p) Only1
(B) Oniy2
(c) Bothland2

According to Census 2011, which
among the following districts of
Harmyana has highest Decadal Growth
Rate of population ?
(A) Panipat

(C) Hisar

(8) Sonipat
(D) Gurgaen

\Which sport was included by State
Government of Haryana in it5
sports Policy in May, 20157

{a) Deaflympics (8) Pool

(C} Boat-race (D) None of these

Rao Tula Ram was bern in which
district of Haryana 7
(A) Rewari
(C) Jhajjar

Which of the year had declared the
‘Balika Shishu Vvarsh' by State
Government of Haryana ?

[A) 2005 (B) 2006

(cy 2007 (D) 2008

Fazal All Commission’s report was
‘submitted in the year
[A) 1953 (8) 1955
(€) 1356 (D) 1957

is the biggest animal
dry farm of Asia situated at

(8) Makendragarh
(D) Bhiwani

1
i

(0) otk

-

35.

ae.

a7.

38.

351

Gt # B fewE SEEn § e A
=¥ Joard & ?

(A) T (8) FH

(C) (D) T

qtzmsﬂa:ﬁz&aﬁﬁﬁﬁﬁm
ﬁaﬁﬁmmmﬁm‘hﬁ

e 2
(a) fowiefame  (B)
(), Frm-2rE (D) T | rE T
T T T W EE % foret
Hga !
(A) e (8) WE=TE
(C) T (0)
amm mmm?ﬂa&aﬁqﬁa&:
Fvgy ¢ it e v @t 2
(a) = 2005 (B) =% 2006
(€) = 2007 (D) =4 2008
et et ST ) ik A T EE 0
(A) =% 1953 (B) = 1955
(c) =¥ 1956 (D) =k 1957
o o A T S R
i e & 7
(A) ST (8) frrdt
() fim (0), TR
. ey

— L —



r L -

: '€ and symmetric only
Equivalence relation
C) Irreflexive and transitive only
» ;ﬁjf_.gl’artral ordered relation

fﬂhs’iderthe group <{1, -1, i, -i}, *
:undgr multiplication .The inverse nf -
is -
(A) 1 (8) -1

(©) i (0) i

13. The range of integers that can be

represented by the 32 bit computer
using 2's complement to represent
:lﬂtegers is

(A) 23210 222

(8) —2%21t02%

{c} —23145 232
Jﬁi]-' —23140 231 -1

Afull hmar'_ut tree with n leaf nodes
nodes.

(B) FHGE WA
(C) et e T g
(D) HAitaTR P T

v W <{1, -1, |, -1}, * > F T
Famaérrau | = i T SR
(A) 1 (8) -1
(c) i (D) —i

it 1 J% W R 32 ez s
T Ve 77 3 2 F W 51 30
&7 foman s weRe & &
(&) =282 232
(B) ~232% 231
(€) —231g 232




uring M achine

cardinality of set A be 16 and
ity of set of all equivalence

1 &aﬁes ﬁnder some equivalence
e, ﬁ'ﬁt’[ﬂn on A be 4, Then the number of
elements in each equivalence class is

L’ (A2 (8) 4
RR(C) & (D) 8

. Afunction that calls itself for its
girm:essmg isknown as

m Inline Function
Ej Nested Function
(€) Overloaded Function

43,

(A) FSM
(B) PDA

e f S A i @A 16 E A A T
@mm#aqﬁﬁﬂmqﬁ

it ¥ Az F wE 4 ¥ | 0 e ,
e o A ) e
(A) 2 (B)}-4
(C) 6 (D) 8

ﬂmﬂﬁﬂﬁmﬁmﬁ?fm
AT T ¥, TN &

(A) FHAATE B |

ﬁ@mwﬂuﬁmmﬁﬁm

ﬁ:ﬁmﬂﬁmmmwm
' R



L
|
-

ress every Boolean

(B) ORalone
(D) NAND alone

X=X+Y
yExX=y
X=x=-Yy
[i‘,ﬂj.fsﬂetam the values of x and y
{B} cumplement the value of x and y
C) Swapxandy

1 {D) Negatesxandy

holds information before

: ;ﬁlﬁgﬁtﬁ decoder.

'f[@?tontml register

@ﬂh D‘ﬂa regisrar

® {zu 12,15, 14, Lm?¢ a}

(A) 2réet AND =7 39T #T.
(B) @t OR 1 S9N &
(C) 3TFet NOT %1 3977 =¢
(D) et NAND =7 3931 &
RV ; X=X +y
y=x—y
X=X-y
® T ?%?H'FTT-E'@F’E |
X T y % T % ST |
X Ty TTRTTH e & |
(D) x7emy i = &

aRer T T |

(A) w=giv et
(B) 2z ey

(€) Ew IR

(D) WemIE

ﬁmﬁﬁaﬂﬂi’rmﬁwfkﬂmﬁ}
ﬂwwrrﬁ’lﬁ‘l*eﬁam%?




Eﬁ[ﬂﬂ +5::E~r 10 s
! [B) Ofx')
(O} Ofx legl2"))

- _1._ :-‘- gs are character arrays, The last
. WE{ it contains the null-

e

3 character :
'-'ﬁ.l :\-\E-: {ﬂ-'r .ll'n
4cl \o () 11

§. _ sorting algorithm does not
F. 2 3 worst case running time Ofn°.

j: A} Insertion (B] Merge

{ ‘1 ﬁ_,-'!.lllsk' (D} Bukbble

.I:mudeﬂmal equivalence of the
nurmber 377 is

(B) AF

[I'_'I-L.FF.
an pperator for logical-and is
. . g
P T

a9,

ta) Al
{8} AL
{€) a:2
(D) A3

T fix) = % Jogl 2% + o0 + 560 + 109

B2 €1
B3 02
B:a Ci
Bl €2 ' \

fan ¥ o e

(&) OiXlegx) (6) Ofx")

i) o) (D) Olx leg{2)
sk o T T HEE B
(A] M (8) \n

[C) \0 (D} M

Fife meifirey A =E

o Zm afn?) TE Bk |
(#) sFEET= {B) W
(c) Trrw (o)
|
ST HEE 377 T U AR B |
?_— |
|A} FF (B} AF
[C) FOD (D) FA
e and o B ety sgtar
A & (B) Bk
< | D) |&

62 . TEICH T
W '




(B) Queue
(D} Tree

umber of tuples in a relation is
ts while the number of
tﬂs in a relation is called its

' ',._;1 Degree; Cardinality
B} Gardrnahtv, Degree
{E] Rows, Columns

1 4{{!] Columns, Rows

ﬂralatinn Is______ifevery field

mmair'fs e-nly atomic values that is, no
or SEE

{A] INF (B) 2NF
(€) 3NF (DY BCNF

68, ﬁ&mbum of one table matching the
prim*ary key of another table is called
as

(D) BCNF

T FIt & o arr wieh = i
Fi @ o 8, o 77 wEer b

(A) T ot

(8) fair (vfvomy st

(C) st it

(D) g ot

““"%ﬂﬂm n@u wrﬁrnrﬁﬁ




W -
i.i@“!inB is not a
cteristic of the Indian Economy ?
Low per capita income

acy of agriculture

(C) Balance between heavy industry

and wage goods.
JJ‘F Population pressure

72. Which of the following is associated
with Panchayati Raj ?

}f Shah Commission

‘:* ‘fﬂ!}l Nanavati Commission

~ (C) Balwant Rai Committee

| ,[Dl Liberhan Commission

| "J""n.-ifrjﬁfian citizen is denied a public

L

office because of his religion, which

(C) =z @i HeRd Ter § S
(D) e Fo

72, erEEt T HeE €
(A) ¥mE FEm
(B) AFmEE S
(C) werET T FH
(D) fosem s

73, oft et v Afes # 36 ud &
SR T T S [ e o Ll |
w1 T o A SEE W e
ST T I EH 9
(A) TeEe = AR
Jﬂfﬁnﬂmmm

(C) u¥ = T 5 A




(8) BDGKpY
(D) HiLPuzZ

" is related to Book in the

e J.ﬁmg way as Choreographer is
~ relatedto

Qﬂ} Drama (B) Ballet

(Q) Masque (D) Opera

- 78, THEREFORE is to TEEOERFRH as

HELIEGPTEH isto_?
{ﬁ} HELICORETP  (B) HLCPERTOIE
{C) RETPOCI(EH (D) RETPOCILHE

9. In the following letter series, some
. * nf the letters are missing, which are
4 4 given in ‘that order a5 one of the

& "'ai{emaﬂves below it. Choose the
~ correct alternative.
Lt abca__bcaab__ca_ bbe a3
(A) ccaa (B) bbaa

abac (D) abba

(A} .AEFJLG. (B) BDGKPYV
(C) CEHLQV (D) HiLpuz

AEH F T W A T ko g
‘EETT{R:(

Y 7% (B) %t

(C) wre=F (D) aitewy

THEREFORE 1 TEEOERFRH W =
=Y & S HELICOPTER Cagc:r: g 3

(A) HELICORETP (B) HLCPERTOIE
(C) RETPOCILEH (D) _RETPOCILHE

IR = sjmen EACRR
1 ﬁ:qnqﬁmﬁq}nwaﬁ-—rmf’&m
ﬁmmwmwﬁ'ﬁﬁﬂéﬁ*
TEAT B Q1 0 ¢

abca _ beaah —cta__bbc_ 3
(A) ccaa (B) bbaa
(€) abac (D) abba

mﬂﬁi’ﬂiﬁmmmm
T g | ¥ 10

I R 15 e
25 5 o 6 st




